Solutions to Quiz 3
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DERWTH, BEFHED NS EIIRE L TRV, Consider the 16 x 16 board with one square
removed. The figure below is an example. Explain that no matter which square is removed,
the board can be completely filled up by 4 types of plates below without overlapping. You
may use the fact that 8 x 8 board can be filled up no matter which square is removed.
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Divide the board into four 8 x 8 boards. The removed square
is located in one of the four smaller boards. Then put one
of the four pieces at the center of the board so that it does
not cover the one of the four a square is removed. Then we
need to fill up the remaining three 8 x 8 squares. However,
each board of size 8 x 8 can be regarded as a board of the
size such that one square is removed. Now by hypothesis,
all of the four boards can be filled by these pieces without
overlapping. Therefore it is possible for all cases.
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BE) L, RADFETIED EMNOBEDBE %% Z X, (Consider the Hanoi’s Tower with 6
disks as in Figure 1. We are in the process of moving 6 disks from A to B or C with minimal
number of steps. Answer the following in each case.) Y7 b DIcHh%E L, THRICEKZEZA
11X, (Encircle the appropriate choices and fill the number in blank.)

(a) Figure 2. A:6,5,2 B:1 C:4,3
BB (Destination) : B (C)  KDOBB (Next move) : 1 — A, 1 — C, or (2 = C).
BEIAI% (How many moves left?) : 50 (24+1+15+1+31) [A]
(b) Figure 3. A:6,3,2,1, B:5,4, C:
B #)7: (Destination) : B @ RDH) (Next move) : (1 — B), 1—C,or4— C.

B #EA% (How many moves left?) : 39 (7+1+31) [A]
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